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ARITHMETIC PROGRESSIONS
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Which term of the A.P: 3, 8, 13, 18, |(©07° a9t Click s3®)
...is 78

8 $9N3 XBR0ST BeRPO1YTT Jane Xoss,
BOROZROWDO.

https://youtu.be/ou-
iceWbZc0

Find the number of terms in each of the (@oss s¢e3 click @)
following APs

(i) 7, 13, 19

(if) 18, 1512, 13 https://youtu.be/Z.z-
FYXIs_Hg
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-150 ¥ 11, 8, b5, 2
Bep0od JWamenciode J[oedd.

https://youtu.be/
I3BDEOUQANIs

Check whether — 150 is a term of the AP|(© o= a3 Click =)
:11,8,5,2...

w000 RB3003T Jepod 113e JIT 38, 163¢

https://youtu.be/
BT 73 ©BC 318 BBIIY F0RERROWD.

7tW_kzj2781

Find the 31st term of an AP whose 11th |(@os* s3¢e3 Click s@)
term is 38 and the 16th term is 73.

50 Taresy Reonuys XWRoBV FRAH 38| hitps://youtu.be/
I3 12 W3y dedod B 106 €BY 203

SUVRINLYZ US
38 30RHB000 OvKNLYZ Os

(DoT* 2hee3 Click Hod)
An AP consists of 50 terms of which 3rd

term is 12 and the last term is 106. Find
the 29™ term.

wLOTD XBR0SBT Jepod 33e Y 9e https://youtu.be/

BN BRweN 4 D) -8 WBY ¢G0S 48yRVISjCXA
JIT ReFo3RNT?
(DoT* 2ee3 Click Hodd)

If the 3rd and the 9th terms of an AP
are 4 and — 8 respectively, which term
of this AP is zero?
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10 |womd XBRCIT Bepad 178 FEH) GBI
103 TBE0S 7 FRPAGS MRRF, HER
TORHLROND.

https://youtu.be/
nF4zriqg6QM

(DoT* 2ee3 Click Hodd)
The 17" term of an AP exceeds its 10th

term by 7. Find the common difference.

3, 15, 27, 39 .... 83 IRXN03T FeRpod
35E [EH) BT 543e JRgoZ 132
82331\:3?

https://youtu.be/
FRLUeQhvjQA

(DoT* 2Dee3 Click Hodd)
Which term of the AP : 3, 15, 27, 39, ...

will be 132 more than its S4th term?

12 | NTVR TR5e03T Zepne BT, RBR 2,083
SN, oRNY 1003 JRNE IRDI KR
100 33 10003 JIRNS IRDS
dp@m&? (o 0ee3 Click s3508)

https://youtu.be/
HMBVgdKewnk

Two APs have the same common
difference. The difference between their
100th terms is 100, what is the
difference between their 1000th terms?
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13 | vosne oy Nond 7008 https://youtu.be/
PNZQREZT P qc8QNtSiBpw

How many three-digit numbers are (©0F* a¢e3 Click o)
divisible by 7?

10 3 2500 SRS 40 TR :"308)36 https://voutu.be/

SI? ILRKBLncyGE

How many multiples of 4 lie between 10 |(©07° a¢&3 Click &50)
and 250?

n 3 odexd B 63, 65, 67 ... DAY 3, |https://youtu.be/

10, 17 ... 8 3R%030 Ze@ne N Je zZKKMDx3b27s

BB BBRTNHZB? (©05* 53e3 Click 350B)

For what value of n, are the nth terms
of two APs: 63, 65, 67,...and 3, 10,
17,...equal?

RRT0Ne TIB 16, 73 JBP 53¢ BJ3gos 12

https://youtu.be/
BWRATHT NB003T Jei FORBRAND.

GGCBxJ_igs
Determine the AP whose third term is [ @os* a3 Click 3on)

16 and the 7th term exceeds the 5th
term by 12.
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17

R8P0 3 3, 8, 13 .... 263 VGO
380008 ToDA 208 BB somdbacwd.  |https://youtu.be/

Find the 20th term from the last term of Beeoster8qk
the AP : 39 89 139 Y 253. (DoT* 2ee3 Click Hodd)

WLOTD XRNOBT JeRod 43 DI 83 JIWNS

202 <53y Bfe w3y 103 Bone 2ed https://youtu.be/
a4’ Seqod HAT > [udRWQzH6djw
uBd & o Redo et Banvy Lo oAHedw

BOTRYSHROWD. (DoF® eDHee3 Click o)

The sum of the 4th and 8th terms of an |https://youtu.be/
AP is 24 and the sum of the 6th and VvxxhTHHat4

10th terms is 44. Find the first three
terms of the AP. (D0 &3 Click s3oB)

Kk ek k

DY) ! ABLYY) ! AT, BPIR;R[I), OTCRIAIE ITOPPIE
2WOWROODR), BRD. IS, WwI33eC33 Feohd,R WeFTT e,
B3 DT FNYR ADRR,YTIC Q3. SRR, DTN, DD AT LMD,
P35 PedR; 3,8 DTOFEOF, QOTIC 9B QTd.

- T9,4,ed) TICFTONOT

Stand up, be bold, be strong. Take the whole responsibility on your
shoulders and know that you are the creator of your own destiny. All the
strength and succour you want is within yourself. Therefore make your
own future.

- Swami Vivekananda

~~ALL THE BEST~~
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